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1. REHEFE (BfL : p Sv./h)
No. AIE IS AT 1 2 3 4 5 6 7 8 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
1 EEmeE 0.21 — — 0.21 0.21 0.21 0.21 0.21 — 0.21 0.20 0.22 0.22 0.20 — — 0.20 0.20 0.20 0.20 0.20 — — 0.20 0.20 0.20 0.21 0.20 — —
2 RERERE 0.070 — — 0.070 0.070 0.070 0.070 0.070 — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.080 0.080 0.080 — —
3 PP —hZE JtAIEAD 0.080 — — 0.080 0.080 0.080 0.080 0.080 — 0.080 0.080 0.080 0.080 0.080 — — 0.080 0.080 0.080 0.080 0.080 — — 0.080 0.080 0.080 0.080 0.080 — —
4 PP —rZE mAIKAD 0.080 — — 0.090 0.090 0.090 0.090 0.090 — 0.090 0.080 0.080 0.080 0.080 — — 0.080 0.080 0.080 0.080 0.080 — — 0.080 0.080 0.080 0.090 0.080 — —
5 BERR=E GE—[m) — — — 0.070 — — — — — 0.070 — — — — — — 0.060 — — — — — — 0.060 — — — — — —
6 FREEME 0.070 — — 0.080 0.080 0.080 0.080 0.080 — 0.080 0.080 0.070 0.070 0.070 — — 0.070 0.080 0.080 0.070 0.080 — — 0.080 0.080 0.080 0.080 0.080 — —
7 Avh—= 0.060 — — 0.060 0.060 0.060 0.060 0.060 — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — —
8 AE KR A ORI 0.070 — — 0.070 0.070 0.070 0.070 0.070 — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — —
9 VIPEKRE 0.070 — — 0.070 0.070 0.070 0.070 0.080 — 0.080 0.080 0.080 0.070 0.080 — — 0.070 0.070 0.070 0.070 0.070 — — 0.080 0.070 0.070 0.070 0.070 — —
10 [EHAIZREHE 0.080 — — 0.080 0.080 0.080 0.080 0.080 — 0.080 0.080 0.080 0.080 0.080 — — 0.080 0.080 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — —
11 (SRR E = 0.070 — — 0.070 0.070 0.070 0.080 0.080 — 0.080 0.080 0.080 0.080 0.080 — — 0.080 0.080 0.080 0.080 0.080 — — 0.080 0.080 0.080 0.080 0.080 — —
12 [FERIREE 0.090 — — 0.090 0.090 0.10 0.090 0.10 — 0.090 0.090 0.10 0.10 0.10 — — 0.10 0.090 0.090 0.090 0.090 — — 0.10 0.090 0.090 0.090 0.090 — —
13 |EEE 0.060 — — 0.060 0.070 0.070 0.070 0.070 — 0.070 0.060 0.060 0.060 0.060 — — 0.060 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.060 — —
14 |RREERE-EE 0.060 — — 0.060 0.060 0.060 0.060 0.060 — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.070 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — —
15 [EFDHE1E B 0.080 — — 0.080 0.080 0.080 0.080 0.080 — 0.080 0.080 0.080 0.080 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.080 0.080 0.080 — —
16 Lo MEhT FEEX 0.060 — — 0.060 0.060 0.060 0.060 0.070 — 0.070 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — — 0.060 0.060 0.060 0.060 0.060 — —
17 [EZSHWEHT EVEI 0.080 — — 0.080 0.080 0.080 0.080 0.080 — 0.080 0.080 0.080 0.080 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — —
18 [EFH#E 1B EVED 0.14 — — 0.14 0.12 0.12 0.12 0.14 — 0.14 0.14 0.14 0.14 0.13 — — 0.14 0.14 0.12 0.14 0.14 — — 0.14 0.14 0.14 0.12 0.14 — —
19 |BKEREBEIVT 0.10 — — 0.10 0.10 0.10 0.10 0.10 — 0.10 0.10 0.10 0.10 0.10 — — 0.090 0.090 0.090 0.090 0.090 — — 0.090 0.090 0.090 0.090 0.090 — —
20 |RRUBHIVT 0.25 — — 0.25 0.25 0.25 0.23 0.21 — 0.23 0.24 0.24 0.24 0.24 — — 0.24 0.24 0.24 0.24 0.25 — — 0.25 0.25 0.25 0.25 0.24 — —
21 EERKIUT 0.20 — — 0.20 0.20 0.20 0.20 0.20 — 0.20 0.20 0.22 0.22 0.20 — — 0.20 0.20 0.20 0.20 0.20 — — 0.20 0.20 0.20 0.22 0.22 — —
22  |BEBREIVTHIE 0.070 — — 0.070 0.070 0.070 0.070 0.070 — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — — 0.070 0.070 0.070 0.070 0.070 — —
23 |HRmEAOMNE 0.080 — — 0.080 0.080 0.070 0.070 0.070 — 0.080 0.080 0.080 0.080 0.080 — — 0.080 0.080 0.080 0.080 0.080 — — 0.080 0.080 0.080 0.080 0.080 — —

2. RAI7AIE (BHL : Ba/cm?)
No. B TE IS T 1 2 3 4 5 6 7 8 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
1 ElirmEE <2.1E-01 — — <2.1E-01 | <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 — [ <2.1E-01]<2.1E-01[ <2.1E-01 [ <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — — | <2.1E-01] <2.1E-01[ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
2 RERERE <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01] <2.1E-01 —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 — —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —
3 PP —rECLAIBAD) <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —
4 PPY—I= (FElEAD) <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01] <2.1E-01 —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 — —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —
5 BEfRE GA—[ED — — — <2.1E-01 — — — — — <2.1E-01 — — — — — — <2.1E-01 — — — — — — <2.1E-01 — — — — — —
6 RAESERE <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01] <2.1E-01 —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01[ <2.1E-01 — —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —
7 Ovh—= <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
8 AEREERTH A ORI <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01] <2.1E-01 —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01] <2.1E-01 [ <2.1E-01 — —  [<21E-01]<2.1E-01[<2.1E-01[ <2.1E-01] <2.1E-01 — —
9 VIPERE <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
10 |FHAIREHE <2.1E-01 — — <2.1E-01 | <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 — [ <2.1E-01] <2.1E-01 [ <2.1E-01 [ <2.1E-01 | <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
11 [IEHREE R B = <2.1E-01 — — <2.1E-01[ <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
12 |[FEBIREE <2.1E-01 — — <2.1E-01 | <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 — | <2.1E-01] <2.1E-01 [ <2.1E-01 [ <2.1E-01 | <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
13 |EEE <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
14 |RREERE-EE <2.1E-01 — — <2.1E-01| <2.1E-01 [ <2.1E-01 | <2.1E-01 | <2.1E-01 — [ <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 | <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
15 EZoHE1E BB <2.1E-01 — — <2.1E-01| <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 [ <2.1E-01 — — <2.1E-01 [ <2.1E-01 | <2.1E-01| <2.1E-01 | <2.1E-01 — — <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 | <2.1E-01 — —
16 b2t T REEX <2.1E-01 — — <2.1E-01| <2.1E-01 [ <2.1E-01 | <2.1E-01 | <2.1E-01 — | <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 | <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
17 [EZS#E#T EVEI <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
18 [EZFo &1 EVED <2.1E-01 — — <2.1E-01 | <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 — | <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 | <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
19 |BKEREHEIVT <2.1E-01 — — <2.1E-01 [ <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
20 |RRUBHIVT <2.1E-01 — — <2.1E-01 | <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 — | <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 | <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
21 |ERFERIVT <2.1E-01 — — <2.1E-01[ <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 —  [<2.1E-01]<2.1E-01[ <2.1E-01[ <2.1E-01 ] <2.1E-01 — — [ <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — —  [<2.1E-01]<2.1E-01[<2.1E-01[ <2.1E-01 | <2.1E-01 — —
22  |FEBREIVTHIE <2.1E-01 — — <2.1E-01| <2.1E-01 [ <2.1E-01 | <2.1E-01 | <2.1E-01 — | <2.1E-01] <2.1E-01 [ <2.1E-01 | <2.1E-01 | <2.1E-01 — — | <2.1E-01 <2.1E-01 [ <2.1E-01| <2.1E-01 | <2.1E-01 — — | <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 [ <2.1E-01 — —
23 |HAmFEAOMNE <2.1E-01 — — <2.1E-01] <2.1E-01 [ <2.1E-01] <2.1E-01 | <2.1E-01 —  [<2.1E-01] <2.1E-01[ <2.1E-01[ <2.1E-01] <2.1E-01 — — | <2.1E-01] <2.1E-01[<2.1E-01] <2.1E-01 | <2.1E-01 — — [ <2.1E-01] <2.1E-01[ <2.1E-01] <2.1E-01 | <2.1E-01 — —
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3. MAtEMERE (B : Ba/cm”)
No. BIEIS AT 1 2 3 4 5 6 7 8 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
1 1FLBEER T <49E-06] — — <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 — | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06] — — | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 [ <4.9E-06] — — | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06 | <4.9E-06] — —
2 TFLAARY YRR T T <44E-06] — — <4.4E-06 | <4.4E-06 | <4.4E—06 | <4.4E-06 | <4.4E-06 — | <4.4E-06 | <4.4E-06 [ <4.4E-06 | <4.4E-06 | <4.4E-06| — — | <4.4E-06 | <4.4E-06 | <4.4E-06 | <4.4E-06 | <4.4E-06| — — | <4.4E-06 | <4.4E-06 [ <4.4E-06 | <4.4E-06 | <44E-06| — —
3 ABEBEF24/Xy/HAD [<23E-08] — — — — —  [<2.3E-08] <2.3E-08 — — — —  [<2.3E-08|<23E-08] — — — — —  [<2.3E-08]<2.3E-08] — — — — —  [<23E-08]<23E-08] — —
4 EZE I IE—F <22E-08] — — — — — [ <2.2E-08] <2.2E-08 — — — — | <22E-08|<22E-08] — — — — — | <22E-08]|<22E-08] — — — — — | <22E-08|<22E-08] — —

=

4. REHRE (B mSv)
No. AIE IS 1A6H| 1H138| 1H20H| 18278
1 SRR E - BT 0.016 0.016 0.016 0.016
2 EHRIZRE AT 0.015 0.015 0.015 0.015
3 KEMAEERT A ORI 0.010 0.010 0.010 0.010
4 EEFXIEA O (20) 0.010 0.010 0.010 0.010
5 EEREEEENZXIEGER 0.026 0.026 0.026 0.025
6 BRESENERBERE 0.026 0.026 0.026 0.026
7 BEHREBSRRE EAE 0.011 0.012 0.012 0.012
8 EITREZSMA 0.008 0.008 0.008 0.008
9 frEEREMTIA 0.010 0.010 0.009 0.009
10 |2 NEEESHHA 0.014 0.014 0.014 0.014
1 |REEFERHAOMR 0.011 0.011 0.011 0.011




